
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

تحويل الكسور العشرية إلى نسب مئوية

36% = ________ 20% = ________

48% = ________ 72% = ________

100% = ________ 57% = ________

91% = ________ 61% = ________

66% = ________ 39% = ________

41% = ________ 9% = ________

84% = ________ 82% = ________

13% = ________ 38% = ________

48% = ________ 46% = ________

78% = ________ 23% = ________
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　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

تحويل الكسور العشرية إلى نسب مئوية

36% = 0.36 20% = 0.2

48% = 0.48 72% = 0.72

100% = 1 57% = 0.57

91% = 0.91 61% = 0.61

66% = 0.66 39% = 0.39

41% = 0.41 9% = 0.09

84% = 0.84 82% = 0.82

13% = 0.13 38% = 0.38

48% = 0.48 46% = 0.46

78% = 0.78 23% = 0.23
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